35.9 fb (13 TeV) g 35.9 fb! (13 TeV)
c —— 71— = e
S60000[-CMS 1 3 [ cms ]
= [ Preliminary ] < [ Preliminary 1
2 - 4 ovservea[ ]z -t 1 & w°op ut 4 ovservea[ ]z -t ]
50000 " Wz-cons Weivies Fo" Wz-conn Wessies 1
[ [Moivoson [Jreducioie ] 8o} [Moivoson [Jreducibie
40000 Wsvh-w =+ - i E=20%] [ [T ———
r [Jekg.unc ] 60 [ [Jekg.unc b
30000 B [ 1
20000 . aor ]
o ] 20f- -
ok N J oL I e ]

0 50 100 0 20 40 60 80 100
np, (Gev) T, P, (GeV)

@) p pr (b) T pr
35.9 fb* (13 TeV) 35.9 fb* (13 TeV)
=3 T T T £ T T T 3
£ 18000 -CMS i £60000Fcms ]
S ]
‘El Preliminary € Preliminary 1
£16000f it +ovsenvea[Jz-x 4 Ssoocofi +onsenvea[Jz- ]
Wz-eon Weewies ] 1 Wz-eotn Wcwiers E
14000 Movoson [Jresucive Movoson [Jresucive 3
12000 Wovrn—n -z 40000 [
[exgune ] [exgune ]
10000 30000 E
8000 ]
6000 20000 3
4000 ]
10000 B
2000 ]
i e L .
% 50 100 150 % 50 100

(¢) My (T,Emiss)

200
m(t,MET)

150 200
MET (GeV)

( d) E;Fniss



